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:

:

A

B

= 100

: = 100

= 100

= 200 ÷ 2 = 100

(MSD) (LSD)

(Evolutionary Computing)

(Intelligent and Emotional  Computing)

(Artificial Intelligence)

(Von Neumann)

(Multi Agent Software)

(Analog) (Digital)
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A - 

B - 

C - (Pins) 

A B C A B B C 

 (Hub)

( LAN) (Network Topology)

(Bus)   (Mesh) (Tree) 

 (Star) (Ring)

  

(Thick co-axial cable)

(Microwave) 

 (Fiber optic cable) 

(Unshielded twisted pair cable)  

 (Shielded twisted pair cable)

 TCP/IP (Application  layer) OSI

(Physical), (Data link) (Transport)

 (Network) (Session)

(Application)

(Presentation),

Data Processing Life Cycle 

  A -

  B -

  C -

  D -

A, B, C  D   B, A, C  D  B, D, A  C 

  C, B, D A D, A, B C 

A

B 

C

A  B  C

 A B  B C 

(Open Source) 

Ubuntu Lotus 123 DOS

PhotoShop Auto CAD



- 119 -

'win',    ['Nimal',55,'male'],    ('abc',45,'xyz'),    {2:'name','tel':'0721475454'}

  string,  float,  double,  array    string,  tuple,  dictionary,  list 

  string,  long,  float,  complex    string,  array,  integer,  list   

  string,  list,  tuple,  dictionary 

A (Logical design)

B (Physical design)

C (Conceptual design)

  A, B, C  A, C, B B, A, C B, C, A  C, A, B

 CSS 

A

B Cascade Style Sheet (acronym)

C Computer System Software

D

 A, D B, D A, B, C A, B, D B, C, D

BLOG

BLOG

BLOG publishing tool www) 

   CSSs    Frames   Sessions    Forms    Cookies 

 

B 2 B  B 2 C C 2 C  C 2 G   G 2 C
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  A - (Read Only Memory)

  B - (Secondary Storage)

  C - (Register Memory)

  D - (Flash Memory)

  E -  (Random Access Memory)

 (Volatile Memory) 

   A, B    A, C    C, D            C, E   D, E 

(Process State Diagram) 

A, C E (Process States) 

(Running State) (Created State)
(Block State)

(Database Management System)

(Data Collection)

(type)

 

A - (half duplex)

  B  - (PSTN -Public Switched Telephone Network)

  C -  (simplex)

   A B  C

 A B    B  C
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 A, B, C, D (Network Topologies) 

A              B              C              D

 DNS (Domain Name Server) 

(Host Name) IP (Mapping)

(Distributed Database System)

(hierarchical) 

 IP

 A - . . .

B - . . .

C - . . .

  D - . . .

E  - . . .

C (Class C) IP

  A, B C         A, B E  A, D C    

 B, C D     B, D E           
      

(Closed system)

  A -

B -

C -

D -

E -

A, B, C A, B, E B, C, D B, C, E C, D, E

A -

B -

C -

D -

A, B  B, C C, D A, B, C B, C, D
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(Kansei System)

  A - 

  B -

  C -

  A   B C   A B   B C

HTML 

  <tr> line    <tr> line <tr/>   <tr> line </tr>

<tr> line <tr>    <tr line  tr>  

  (E-commerce) 

 

FA FB

 FA

 Student

 

 SNo Name Address

  1 Kamal Negombo

  2 Seetha Colombo
 

A (Tuples) 

B student (Relation) 

C SNo 

D (Cardinality) 

 A  A  C  B C  

 B D D   

ER 

Age Emp-Name

Emp-NoDOB

Employee

Designation
Qualifications

(Entity) (Attribute)

(Multi Attribute) (Relationship)

(Derived Attribute)
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 #program to convert Celsius Temperature to Fahrenheit
 c=input ('Enter Temperature in Celsius:')
 f=c*9/5.0+32

 print "Fahrenheit %d" %f

 (save)

  Temperature Celsius into Fahrenheit.python

 Temperature Celsius into Fahrenheit.pyp

 cel_into_fah.pyc

 cel_into_fah.py

temp_conv.pyc 

  #program to convert Celsius Temperature to Fahrenheit 

 c= input('Enter Temperature in Celsius:')  c-input('Enter Temperature in Celsius.') 

 

 F=c*9/5.0+32  f=c*9.0/5.0+32 

 print "Fahrenheit %d" %f print "Fahrenheit %f" %f

 print "Fahrenheit %d" %f print "Fahrenheit %f" f 

 Student

SNumber Sname SDOB Sex Address

72339043 V Wijerathne 72.12.08 M Mawanella
 

 Mark

SNumber SubjectCode Marks

72339043 V NB1 54

60376682 V NB2 87

72339043 V NB2 65

SNumber Mark

SNumber Mark (Foreign key)

SNumber SubjectCode Student (Composite key)

SubjectCode Mark  (Alternate key).

SubjectCode Student (Candidate key).

SQL 

SELECT emp.deptno, ename,sal, hiredata 

 FROM emp, dept

 WHERE emp.deptno=dept.deptno

 ORDER BY ename 

ename,sal, hiredata  

dept 

emp dept 

emp.deptno dept 

deptno  
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A + B

A . B

A  B

A  B

A  B

B.C(A+BA) 

A B C A  B C A B C  A B  C C A  + B.C.A.

HTML

 <dl>

 <dt>Sinharaja</dt>

 <dd>Wet zone forest</dd>

 <dt>Ritigala</dt>

 <dd>Dry zone forest</dd>

 </dl>

(Web browser)

Sinharaja

Wet zone forest

Ritigala

 Dry zone forest 

Sinharaja Wet zone forest

Ritigala Dry zone forest

Sinharaja

 Wet zone forest

Ritigala

 Dry zone forest

Sinharaja

 Wet zone forest

 Ritigala

 Dry zone forest

Sinharaja

Wet zone forest

Ritigala

Dry zone forest

 (proprietary licence)

  A - 

  B  - 

(software piracy) 

  C  - 

A   B  C  

 A B  A  C 

r=11; y=2.5; c=4 r, y, c 

r%3*c+10/y

      

A B Output

0 0 1

0 1 0

1 0 0

1 1 1
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j=10
y=4
if j<y or j!=4:
 j-=y
 print j
else:
 y*=j
 Print y

   

no 

Yes

Start

r=5

s=3

r=r+s

s=r+3

display s

?
r<25

end

   

  

  

   

 
 

(pseudo code)

begin 
r=5
s=3
 r=r+s
 s=r+3
 display s
if r<25
end

begin 
r=5
s=3
if r<25
 r=r+s
 s=r+3
 display s
else
end

begin 
r=5
s=3
while r<25
 r=r+s
 s=r+3
 display s
end while
end

begin 
r=5
s=3
do
 r=r+s
 s=r+3
 display s
while r<25
end

begin 
r=5
s=3
do
 r=r+3
 s=r+3
 display s
while r<25
end
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  A - s="It's correct"

  B - x=y=z=2.5

  C - x,y,z=1,2.3,'string'

  D -  #This is not correct

  E - a=['string',123]

  F - b=5

         while 4<=b>10:

    b+=1

  G - for x in range(0,12,3):

    print x

  H - a={'a':'b',4:40}

   I - def fun1(a,b=4,l=[]):

    return b*a

A, B C 

A, C F 

D, E F

G, H I 

(Water fall)

(System Acceptance)

(White box Testing).

(Black box Testing).

(Unit Testing).

(Integrated Testing).

(Code Testing).

(DRAM) (SRAM)

 A - 

(DRAM)

 B - (Refresh) 

(SRAM)

 C - 

   A    A B     A  C  

  B C     A B C 
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A - (interpreter) 

(source code), (machine language)

B - (compiler)

C - (mnemonics) (assembler) 

A B C 

A B A C 

from date import date
class dtcheck:

def_init_(self,y,m,d):
self.now=date.today()
self.dob=date(y,m,d)
self.age=self.now - self.dob

def printage(self):
return "your age %d"%((self.age.days)/365)

"dcheck.py" 

(save) object

import dcheck
w=dcheck.dtcheck(1976,11,10)
result=w.printage()
print w

import dcheck
w.dcheck(1976/11/10)
result=w.printage()
print result

import dcheck
u=dcheck.dtcheck(1976,11,10)
print u.printage()

import dcheck
w.dtcheck.dcheck(1976,11,10)
result=w.printage()
print result

w=dcheck.dcheck(1976/11/10)
result=w.printage()
print result
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II 

 A 

B 

A  

1.  (a) 

(b) (manual) 

(c) 

(d) ASCII, Unicode

(e) ALU (Arithmetic and Logical Unit) CU (Control Unit)  
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2.         Employee

  

EmployeeNo EmpName EmpAddress EmpSalary

A001 Perera Negombo 30,000

A002 Kamal Kandy 45,000

(a) 

SQL 

(b) Insert Into 'Employee'('EmployeeNo', 'EmpName', 'EmpAddress', 'EmpSalary')

  Values('A 003', 'Saman', 'Kandy', 20000)

  SQL

(c) ALTER TABLE 'EMPLOYEE' ADD 'Department' VARCHAR (20) 

  SQL

(d) SELECT EmployeeNO, EmpName, EmpSalary 

  FROM Employee

  WHERE EmpSalary >=30000

  SQL

(e) (d) SQL ORDER BY EmpSalary 
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3.  

Start 

x=1

x<=10

total=0

YES

NO

get marks to the variable 
maths

YES

NO

x=x+1

total=total+maths

avg=total/(x-1)

avg>50

Display"Good"

END

Display"Bad"

(a) (pseudo code) 

(b)

(c) 

for letter in “python-programming”:

     if letter==’-’:

        break

            print letter
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(d) (c) break  continue

4.       ExpoBooks 

Title Price

Database $125

XML $75

ExpoBooks
Home

New Release
Best Sellers contact us

  Search for 

New Books  

Higher Learning   Text Books

Low Prices

Your comments 

Reset Submit

  

(a)  (i) (hyperlink) 

    (ii)  Home click 

index.html HTML 

(Home  Home.jpg )

 (b) Text Books Books.jpg web 

images 

HTML (link) (attributes) 

 (c)  New Books

HTML

 <table border=1>
          <tr>
 .................................
 .................................
 .................................
 ................................
 .................................
 .................................
 </table>
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 (d) New Books (ordered list) 

  HTML 

 (e) xml 

<?xml version="1.0"?> 

(f)  Shopping cart 

 (g) 

*  *
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B  

1.  a  Boolean theorem

  A.(B+C) = A.B+A.C

 b   

F

A
B

C

i logical circuit output) F 

(input) A, B, C

ii F  f (A, B, C)

sum of product - sop

iii ii (standard sop)

(standard pos)

c  Karnaugh Map 

f (A, B, C, D) = ABCD + ABCD+ ABCD +ABCD + ABCD + ABCD

                        + ABCD+ ABCD + ABCD + ABCD

2.  a i

Access speed

ii  RAM Application software

.

iii

a. (Read Only Memory)

b. (Dynamic Random Access Memory )

c. (Volatile Memory)

d. (Flash Memory)

b i (processes)

a. (Throughput) 

b. (Turnaround time)

   c. (Waiting time)

   d. (Response time)

 ii (Scheduler)

a. (dispatcher) 

b. (Long-term  scheduler) 
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3.   Member) Sports)

Coach) (flat file) 

MemberID MemberName SportID SportName CoachID CoachName

M123 Saman S 12 Judo C 02 Gamini

M123 Saman S 14 Karate C 09 Sarath

M125 Anura S 12 Judo C 02 Gamini

M125 Anura S 13 Boxing C 08 Nimal

(a) 

(b) (Relational Database) 

many-to-many ER

(Entity Relationship Model) 

(c) ER (Entities) (Relationships) 

(Third Normal Form) (Tables) 

(Key Fields)  

4.  (a) (Open System Interconnection - OSI)

(b) (Physical) (Application)

(c) (Network Layer)  (Protocols)

(d)

•  (Repeaters)

• (Hubs)

•  (Gateways)

(e) (Hubs)  (Switches)

(f) (Tree Topology)
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5.  (a) (Compilers) (Interpreters)

  (b) 

(i) animals=['Dog','Rat','Cat']
  animals.sort()
  for animal in animals:
   print i,animal.strip(),len(animal)
                          i t=1

(ii) def times(a):
       for i in range(1,12):
       print a,' x ', i,' = ',a*i

  times(5)

  (c)  

"input.text"  

Nimal, 20, 10, 30

     Saman, 40, 60, 45

     Mala, 22, 65, 75

   

     1. Nimal 60     20.0

     2. Saman 145   48.3

     3. Mala 162   54.0

 

def total(marks):
       #compute the total
     total=0
     for mark in marks
      _ _ _ _ _ _ _ _ _ _ 
     return total
    f=open("inpit.text")
    line=f.readline()
    i= _ _ _ _ _ _ _ _ _ _ 
    while(line ='')
     record=line.strip('\n').split(",")
     aggregate=total_ _ _ _ _ _ _ _ _ _ 
     print i,_ _ _ _ _ _ _ _ _ _ _ _ _ _ _ _ _ _ _ _ 
     i +=1
     line = _ _ _ _ _ _ _ _ _ _ 
    f.close()



- 136 -

6.  (a) (sea food)

(b) 

(i)

(ii) 

(iii) 

(c) (white box)

(black box)

(d) 

* * *

Kosala Rajapaksha
www.itpanthiya.com


